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s)|=¥ 21,836,977 21,582,087 254,890

= 6,896,259 6,601,364 294,895
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= 464,808 544,308 AT79,500

= 10,432,910 10,461,415 228,505

SUAVHHY N (SHY 24/ - 5&) 319,989 418,489 98,500
=280l XA 227,989 226,489 1,500
SEHe dFXZ L3t 59,527 58,027 1,500
203 HRF&H] 13,500 15,000 21,500

03 AZFIHRFAH| 13,500 15,000 A 1,500
OATZINL A Al Z=A 2,700 3,000 A 300
OSEINSTAANYAHEZ 2,700 3,000 A300
O=EXNSAMBAHZZ 8,100 9,000 A900

405 AHeHESHI 6,000 3,000 3,000

01 XL SSFSHI 6,000 3,000 3,000
OFUAY HEHEDI(1) 3,000 0 3,000
FAEgze 92,000 192,000 A100,000
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401 AIZBIL 2T 24,000 124,000 A100,000
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= 19,000 19,000 0
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03 22AHR0HI 13,000 18,000 25,000
OUEERY 2N =X 0 5,000 A5,000

04 =M=t bl 0 5,000 A5,000
OFTAZ SR HAY =X 0 5,000 A5,000

KNS MSRSAMSIHAFEAAG (S 1) 1,322,000 1,254,000 68,000
s 1,322,000 1,254,000 68,000
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o} BoY MR S 10,000 7,000 3,000
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403 XX/ 1,292,000 1,224,000 68,000
2 1,292,000 1,224,000 68,000
02 ZIl2 bl 1,292,000 1,224,000 68,000
ossl A 562,000 535,000 27,000
2 562,000 535,000 27,000
0= 255,000 210,000 45,000
= 255,000 210,000 45,000
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= 15,717 15,252 465
2 30,000 30,000 0
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0z 46,710 61,440 ~14,730
O 10,870 25,600 A14,730
207 @17 18,000 26,000 8,000
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Ol SYEX Aot U 23(203) 6,000 10,000 A4,000
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OHIE, =%, SIS 8,000 14,940 £6,940
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OBXE LYSN M4 L 23(63) 1,780 3,780 A2,000
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ON 2 ZXIIT S(8F) 0 4,000 £4,000
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Osgel H2Ilzus X 320,312 290,312 30,000
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2 116,070 90,640 25,430
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= 1,880,361 1,880,361 0
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oH 2=5 2=t 103,394 84,563 18,831
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= 175,000 175,000 0
= 441,500 521,000 79,500
s 165,014 155,014 0
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= 441,500 521,000 AT79,500
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2 AFZN dsEHE 125,124 99,096 26,028
201 LEH2HH| 16,668 0 16,668
01 AtS22iHl 16,668 0 16,668
sEEY Jl=XN& 16,668 0 16,668
202 Oddl 9,666 5,346 4,320
01 =LHOYI 9,666 5,346 4,320
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301 Let2a= 5,040 0 5,040
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SF& o2dl XA 6,373,349 6,375,549 A2,200
203 R4l 46,640 48,840 A2,200
01 JI22F L= 19,800 22,000 A2,200
OFFSs 9,000 10,000 A 1,000
o 10,800 12,000 A 1,200
2T AAY 97,185 94,853 2,332
QI24d| 97,185 94,853 2,332
PIHAHAZZXE = 97,185 94,853 2,332
Otz & 79,043 94,853 A 15,810
oJl=zs 42,330 50,796 A8,466
odu= 13,944 16,733 N2,789
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O¢ilrs=E 2,490 2,988 A498
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O=2d| 3,000 3,600 2600
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OAZE2tel & 18,142 0 18,142
oJlzs 38,5008 1 255 9,818 0 9,818
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(OFPNEI=E = 38,5003 x1H 15 578 0 578
O EF It 300,000 1 =23 600 0 600
O=24ll 50,0003 «1Z =120 & 600 0 600
OYARLIUUHEER) 1,310 0 1,310
20 AEARA 192,046 158,086 33,960
oI24d| 192,046 158,086 33,960
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oOtH=R& 173,904 158,086 15,818
oJl=2s 93,126 84,660 8,466
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ORrsSsgd=sd 18,991 17,264 1,727
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OX0i3 16,733 27,688 A11,155
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